Laampron

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: GP40

Ne ApTUKyN HanmeHoBaHue K-Bo Ne ApTuKyn HavmeHoBsaHue K-so
1 012010000055 [suratenb UP154 1 23 039010101800 Mpoknagka ¢pnaHua BbINYCKHOTO 1
2 511130601601 Bont M6x16 3 24 039010101900 dnaHel NOMMNbI BbIXOAHOM 1
3 029019900405 XomyT wnaHra 2 25 039010102000 KonbLo ynnoTHUTenbHoe naTtpybka 2
4 029019900100 LLinaHr TonnnBHbIN 1 26 039010102100 MaTpyboK pykasa BXoA4/BbiX04, 2
5 019990001300 KpblwKa TonnmeHoro 6aka 1 27 039010102200 laika dnaHua 2
6 012020003600 dunbTp BCTaBKa TON/IMBHOrO H6aka 1 28 039010101600 KnanaH Hacoca 1
7 012010003703 baK TonNuBHbIN 1 29 039010101700 dnaHew Nomnbl BXOAHOM 1
8 039010100100 KpblwKa Hacoca cTopoHa Auratensa 1 30 039010102300 dunbTp BCacbiBatoWMi 1
9 513010800001 Laii6a 8 15 31 039010130000 XomyT dpunbTpa 1
10 | 513010800099 LWaiiba 4 32 511050801201 Bont M8x12 6
11 511070806005 Bont M8x60 4 33 032020000101 KpoHLWTERH pyKoOATKM 1
12 039010110100 CanbHMK KPbLbYATKN MEXaHUYECKMUI 1 34 512040800001 laiika M8 4
13 039010100500 KonbLo ynnoTHUTENbHOE Kopnyca NoMIbl 1 35 032020010001 NopaoH 1
14 039010110200 CanbHUK KPbIbYATKN KEPAMUYECKMI 1 36 029910100600 AmopTum3zatop 1
15 039010100700 KpbinbyaTtka 1 37 029910300801 Bubpowusonatop nomnbl 4
16 039010100800 Kopnyc KpbiabyaTkun 1 38 511050802501 Bont M8x25 4
17 039010100900 KonbLo ynnoTHUTENBbHOE Kopnyca 1 39 029050100701 PykoAaTka 1
KObINbYATKM

18 039010101000 Kopnyc nomnbl cTopoHa paHues 1 40 513040800000 LWaiba 8 4
19 513020800002 Lai6a 8 11 41 039010100000 Kopnyc nomnbi B c6ope 1
20 511010802503 Bont M8x25 11 42 012010002900 MaHenb 1
21 039010120100 KonbLo ynnoTHUTENbHOE NPO6KN CAUBHOWM 2 43 029029900303 BbikntouaTenb 3axunraHuna 1
22 039010120200 Mpobka cavBHanA/3annBHas 2




Laampron

Power & force

M}'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: GP40

Ne ApTUKYA HaumeHoBaHwue K-80 Ne ApTUKYA HanmeHoBaHue K-8o
1 012011300003 Craprep B c6ope 1 8 012010002300 lalka maxoBuka M12x1,25 1

2 012010002404 KoKyx maxoBuka 1 9 012010002200 CTakaH MaxoBuKa 1

3 511050600801 Bont M6x8 6 10 019990001201 LUTyuep TONAMBHOrO WAaHra 1
4 012011200001 Pbivar perynatopa o6opotos 1 11 012010003703 Bak Ton/MBHbIN 1

5 511050601201 Bont M6x12 13 12 019990001300 Kpbiwka TonansHoro 6aka 1
6 012010002600 BosayxoBsog, 1 13 012020003600 dunbTp BCTaBKa TONMBHOIO Haka 1
7 012010002500 Bospgyxosog, 1




Laampron

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopaenb: GP40

Ne ApPTUKYN HanmeHoBaHue K-8o Ne ApPTUKYN HanmeHoBaHue K-sBo
1 511050602501 Bont M6x25 37 012010000800 Cyxapb KnanaHa 2
2 522010100201 CanbHUK KoneHsana 25x41,25x6 2 38 511050805001 Bont M8x50 4
3 012010200000 LLlyn ypoBHA macna 2 39 012010000700 MpoKnagKa KpbIWKK KNanaHoB 1
4 012010000500 KpbllwKa KapTepa 1 40 012010300000 KpblwKa knanaHos 1
5 514010801200 LUTMOT KpblwKK KapTepa 8x12 2 41 012010003000 KpoHwTeiH nposBoga ceeun 1
6 012010000600 lMpoKnagKa KpbIWKK KapTepa 1 42 511050601201 bont M6x12 10
7 521010010801 MoAwnnHMK KoneHsana 1 43 012010001000 MacnooTpaxarenb 1
8 012010700002 KoneHsan 1 44 012010002000 MaxoBuk 1
9 012010800000 PacnpepgBan 1 45 012010002100 KpblnbyaTka MaxoBuKa 1
10 012010600000 WaTyH 1 46 012010002700 MarHeTo 1
11 518041400000 Konbuo cTtonopHoe nanbua 2 47 012010001700 Kpbiwka 1
12 012010001900 Manew nopwHsA 1 48 012010002800 CBeya 3axKuraHus 1
13 012010001800 MopuweHb 1 49 516040609101 LWnunbka M6x91 2
14 012010500000 Konbuo nopwHeBoe KomnaekT 54 mm 1 50 012010004000 Mpoknagka noa Kapbtopatop 2
15 012010000400 TonkaTenb perynatopa obopotos 1 51 012010003900 Tennousonatop 1
16 | 019990000600 Lanba 2 52 012011100000 Kap6topaTop 1
17 518030600000 Konbuo 1 53 012010004100 Mpoknagka noa Kopnyc ¢puabTpa 1
18 012010000300 Ocb WecTepHU perynatopa 1 54 512040600001 laitka M6 4
19 012010100000 Perynatop o6opotos 1 55 012011000000 Kopnyc ¢punbrpa Komnaekt 1
LeHTPOo6eXKHbIN(LecTepHaA C Kya4yKkamu)
20 521010010701 MoAlnNHUK KoneHsBana 1 56 019990000500 LWnaHr canyHa 1
21 515010601603 Bont M6x16 2 57 511050600801 Bont M6x8 6
22 012011400000 [aTumk ypoBHa macna (B KapTepe) 1 58 019990001700 [aTumnk ypoBHA macna(Ha KapTepe) 1
23 019990000400 LWaiba npobku gaa cnvea macna 2 59 012010000200 Ocb perynatopa obopoTtos 1
24 019990000300 Mpobka ans camsa macna 2 60 012010004600 LWanba 1
25 012010000100 Kaptep 1 61 019990000700 WnanmHt 1
26 012010001500 Tapenka TonKaTena KnanaHa 2 62 512040600001 laitka M6 2
27 012010001600 TonkaTenb KnanaHa 2 63 012010004500 Pblvar perynatopa obopotos 1
28 012010400000 Kopombicno KnanaHa KOMnaekt 1 64 012010004201 Mpy»KMHa pblyara perynatopa 1




Laampron

Power & force NnniocTpnpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: GP40
29 511130601801 Bont M6x18 6 65 012010004300 MpyKuHa TArM perynatopa 1
30 514010801600 WrnoT 8x16 2 66 012010004400 Tara perynatopa o6opoTos 1
31 012010001200 MpoknagKa roNoBKN LMANHAPA 1 67 012010003202 Fnywwurens 1
32 012010001300 KnanaH BbINyCcKHOM 1 68 029049910100 MpoKnagKa raywutens 1
33 012010001400 KnanaH BnyckHoW 1 69 513010800002 Laib6a 8 2
34 | 516040803401 Wnunbka M8x55 2 70 513020800002 Laiiba 8 2
35 012010001100 [onoBKa uMnnMHapa 1 71 512040800001 lalika M8 2
36 012010000900 MpynHa kKnanaHa 2 012011000100 PunbTp BO3AYLWHBIN 1




